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Total No. 40

Math Sci 9: Test

Name: ~ ~ _ Roll No.:
Date: - -20 Teacher's Signature:

Q.1: Tick (v)) the correct answer. af %u( (V)42 <1 /Ulr'
Antilogarithm table was prepared by diw_ de// o _1
Aurther Calay /&~ %47 (D) Jobst Burgi / df/,»u (C)  Henry Briggs /775 (B) John Napier / <l (A)
Scientific notation of 0.0074 is: adr(f/u“'l.fd/ 0.0074 .2
7.4%10™* (D) 74x107 (C) 74x107 (B) 7.4x107 (A)
log, a is equal to: :4‘_/.'/.2: log,.a 3
10 (D) 1 (C) -1 (B) 0 (A)
The logarithm of unity to any base is: c.t'r/l/Z. / 715 I/JHJ'/ -4
0 (D) e (C) 10 (B) | (A)
In log_ 64 =2, the value of x is: :+¢2'J x log 64=2 _5
8 (D) 64> (C) 2 (B) 64 (A)
If «" =n,then ___ : : M q" :n/ﬁ -6
a=1log, x (D) x=log n (C) X ?f(lg%,? a (B) a=log . n (A)
loge = . where (e ~2.718) /'<9/\—<{> (e~2.718). =loge _7
| (D) o (C) ) 70.4343 (B) 0 (A)
logm” can be writtenas _____: " Q\Q\:\@ .‘Lﬁl:lglﬁd’: S logm" _8
log(mn) (D) nlogm (C) /g%ja«; mlogn (B) (logm)" (A)
log p—logq is same as: {\KLS:Q =logp—-logg .9
log(p/q) (D) log p/log q(AC log(p-q) (B) log(q/ p) (A)
Scientific notation of 0.0643 is ____: <<§ «___ A35180.0643 10
6.43x10* (D) £35107 () 64.3x10° (B) 6.43x107 (A)
10x2 =20 Write short 9& rs to any ten (10) questions. _ixfuuyé._,uwoc.of _Z/le'
Define scientific notation. /{\}j ..é 5 /U/(’ /u“‘l/ -
Write each of the following in scientific notation: 30600 , 0.000058 &gu"(’ S5 LwU')C,u _ii
Write in scientific notation: 83,000 Krdos i
Differentiate between common and natural logarithm? *‘:_.u/u/u*/ g}JdJﬁJJ'/ K:’(Lo -iv
Why Henry Briggs is famous? *’4..;%‘1/ ),//d/ Y
Evaluate log512 to the base 242 . ..@/?}L"Jc:. 22 s log512 v
Find the value of x: log, x =4 JIredd X i
Write the laws of logarithm. L AR i
Evaluate 0.2913x0.004236. g ped £0.2913 %0, 004236 cud8 i
Write in the form of single logarithm: ~ 2logx —3log y JJ@J/ Gl _X
Calculate: 0.8176x13.64 el
Simplify: 325.47 -u‘//"" Xii
1x10=10 Write answer to any One (1) question. dq—-f’?gd'fuf :_df 'Ly
~ind the value of X in log,256=x u{/?rb’JJfoIO& 256=x 341y
Use log table to find the value of: 2.709 x1.239 :@/}PJLMJJM?Z@ 44y
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Q.1
(i)

(ii)
(iii)
(iv)
(V)
(vi)
(vii)

(viii)

(ix)

(x)

Q.2
(1)
(1)
(iii)
(iv)

Exercise 3.1

Express each of the following numbers in scientific notations.

3700

— e TR ]'[]q ANS
49 800,000

—498x10" Ans
Q6000000

=96x10" Ans
416.9

=4.169x10° Ans
83000

=8.3x10" Ans @
0.00643 Q

—6.43x10~ Ans O
0.0074 Oé\\g\
—74x10" Ans %@
60,000.000 2D

- S
=6x10" Ans &

0.00000000395
=395x10" Ans
275000

0.0025
2.75x10°
2.5%x107°

Ans

Express the following number in ordinary notation.

6x10"

= (0.0006 Ans
5.06=10"

= 50600000000 Ans
0018x107
=(.000009018 Ans
7.865x%10°

— 786500000 Ans

www.pakcity.org

Please visit for more data at: www.pakcity.org



Exercise 3.2

Q.1 Find the common logarithms of
each of the following numbers.
(1) 232.92

Solution: 232.92
Suppose x =23292
Taking log
log x =log 232.92
Ch=2
Mantissa = 0.3672
log x =2.3672 Ans

(ii) 29.326
Solution: 29326
Suppose x = 29.326

Taking log . @
N>

log x =log 29.326

Ch=1

Mantissa = 0.4672
logx =1.4672 Ans

(i) 0.00032

Solution: 0.00032
Suppose x =0.00032
Taking log
log x = log 0.00032

Ch=4
Mantissa = 0.5051
log x = 4.5051 Ans

(iv)  0.3206

Solution: 0.3206
Suppose x=032006
Taking log:
log x = log 0.3206
Ch=1
Mantissa = 0.5059

Q.2

()
(i

(1i1)
(iv)

()

(1)

(iii)

Q.3

(1)

(i

log x = 1.5059 Ans

[s}
(i ﬁ\%awg

If log 31.09=1.4926VWmdansty.org
v?lue of the tfollowing,

I

log 31.09=1.4926

Then

log3.109 =04926

log310.9 =2.4926

log 0.003109 = 3.4926
0.3109 = 14926

Solution:

log3.109
Characteristics = 0
Mantissa = 0.4926
log3.109 =0.4926 Ans
log310.9

Characteristics = 2
Mantissa =0.4926
log310.9 =2.4926 Ans
log0.003109

Characteristics = 3
Mantt 0.4926

003109 = 3.4926 Ans

Characteristics = 1
Mantissa = 0.4926

log0.3109 = 1.4926 Ans

Find the numbers whose

common logarithms are

Please visit for more data at: www.pakcity.org

3.5621

Solution:

log x =3.5621

Ch=3(If ch 1s positive, then plus for
reference point)

Mantissa = 0.5621

x =antilog 3.5621
x=3649.0 Ans

1.7427

Solution:

log x =1.7427

Ch=1



mviantissa = 0.7427
x=antilog.7427
x=0.5530 Ans

Q.4 What replacement for the
unknown in each of the following
will make the true statements?

(1) log.81=L

Solution: log.81=1
Writing 1n exponential form.
3" =81
3!.. — 34

. Bases are equal so
L. =4 Ans

(m) log,6=05
Solution: log_ 6=0.5

a-” =6
.l,
a =6

Ja=6 Taking square on
P
S (o)

a =36 Ans

sides

(m) log.n=2
Write in exponential form

5% =q
2y=#
Or n=25Ans

(iv) 10" =40
Solution: 10" =40
Changing into logarithmic form
P =log , 40
=log 40
=1.6021 Ans

@%5(@ 2'.25\ =2

.5 Evaluate.

1
1) 2198
1

Solution: log, —
" 128

Suppose log, - : = X

28
Writing in exponential form.
ot
128
1
2
=1
» Bases are equal so
x=-7Ans

"}.E

(ii)  log 512 to the base 2+/2

Solution: log - 512 =x
@%@in exponential form

)y o
i 1y

» Bases are equal so

EI=9
2
Ox2
y—__=
3
M
4
x =6 Ans

Q.6 Find the value of x from the
following statements.

(1) log, x =35

Solution: log, x =35
Write 1n exponential form.
2’ = x
32=x Ans
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(1) 0g. 9=x
Solution: log,, 9=x

Writing in the exponential form.
81" =9

(iii) log 8= -'—3

X
Solution: log,, 8 = ™

Writing in exponential form.

A

64- =8

g%g)i — 8 Q@
X =_l Ans & ﬁ\\“&)ﬁ\o

(v) log 64=2 O@
Solution: log 04 =2

Writing in exponential

x* =64

x* =8

X=8 Ans

Please visit for more data at: www.pakcity.org

(v) log, x=4
Solution: log, x =4
3 =x
8l =x
Or x =81 Ans



Exercise 3.3

Q.1 Write the following into sum or
difference log(A4x B)

(i)  log(AxB)
Solution: log( A4 x B)
log Ax B =log A+log 5 Ans

15.2

JD%
15.2

30.5

log 1.2 =logl5.2-log30.5 Ans

30.5

(i) log

Solution: log

21x5
5
21 x5

8

1 S _ |
log 2]; =log(21x5)-log8

=log 2l +Hlog5—log8 Ans

| 7

v log 3|—

(1v) ﬂng -
s )7
Solution: log }/—
15

(m) log

Solution: log

1
3

-l-lag 7 ——--l-log] 5 Ans

(log 7 -log15)

<§C&l .

log x—2log x +3 ]ﬂg(,r + I) - log (f - ]) as

1
: 22)3
(V) lﬂg( 53,)

]

27}

Solution: log( 53)
1

22)s :
lng( 53) =log223 —log5’

~ %lng 22-3log5 Ans

25x97
20
25 x 97
29

(vi) log

Solution: log

o
lﬂg2 ) log 2‘%:<4?)-log29

<i@25 +log47—1log29 Ans
@\O

Express

a single logarithm.,
Solution:
log x—2log x +3log(x+ l) —log (1‘2 - 1)

=log x —log x’ +log{x+ 1)3 —log (f - l)

£ )
= log E:- +l-:}g(x+l)

x -1

=log| —x

3 3
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Q.3

(1)

(ii)

(iii)

(iv)

Q.4
(1)

vrite the following in the form
of a single logarithm.

log 21+ log 5
Solution: log21+log5
=log(21x5) Ans

log25—2log3

Solution: log25—2log3
=log25—2log3

=log 25 —log 3’

= l{}gg Ans

2logx—3log y

Solution: 2logx—3log y
=2logx—3log y
=logx* —log y*

IE
=log— Ans
¥

log5+log6—log?2
Solution: log5+log6—log?2
=log5+logb—log?2
=log(5x6)—1log2
dx b
2

Ans

— Iog

Calculate the following.

log, 2 xlog, 81
Solution: log, 2 xlog, 81

_ Log‘f log81

~ log3 J{Log{

~ log8l

log3
 log3’

R 10g3'

=4 Ans

(11) log,xlog, 25

Solution: log,xlog, 25

B B}g{xlog%
~ log5 l}:sg”f

~ log25
log5

- log 5°

- log 5
21085
- Log’S/

=2 Ans

Q5 |If log 2 =0.3010,log3 =04771
and log 5 =0.6990, then find the
values of the following.

-+ using 3" law of logarithm
=5log2
By putting the value of log2
=5(0.3010)
=1.5050 Ans

(1i) log 24

Solution: log 24

= ng(f X 3)

=log 2’ +log3

=3log2 +log3

By putting the value of log2 and log3

=3 (0. 301 0) +0.4771

=0.9030+0.4771
=1.3801 Ans

1
1T log,[3—
(1) 51/ :
. 1
Solution: log 35

l

ol
’ 3
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—l]og_zx ]
2 L 3

—

: (log 2 +log5—1log3)

By putting the values of log2,log3 and

log 5

(0.3010+0.69900 - 0.4771)

1
2
]
=—(1-0.4771
L(1-0477)
1
2

(0.5229)

=0.26145 Ans

. 3
e l o

Solution: lﬂg§

23
= loo —
8 3

=log2’ —log3
=3log2—-log3

By putting the values of log2 and log3
=3(0.3010)-0.4771

=0.9030-0.4771
=0.4259 Ans

(v) log 30
Solution: log 30
=log(5x2x3)

.+ using first law of logarithm
=log5+log2+log3

O©Q®
%%ﬁ
%@
O@@

By putting the values of log2,log3 log5

=(0.6990)+(0.3010)+(0.4771)
=1.4771 Ans
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(1)

(11)

Exercise 3.4

Use log tables to find the value of

0.8176x13.64

Solution: 0.8176x13.64

Suppose

x=08176x13.64

Taking log on both sides

log x =1log(0.8176 x13.64)

According to first law of logarithm

logx =1log0.8176+1log13.64
=1.9125+1.1348

logx=—-1+09125+1.1348

logx =1.0473

To find antilog
x = antilog1.0473

Ch =1
x=1.115
Reference point
x=11.15Ans

| |
(789.5)
, N
Solution: (789.5)

1

Letx =(789.5)s

Taking log on both sides
]

log x = log(789.5)¢

According to third law

log x = —;—-l{}g (789.5)

log x = %(2.,89'?4)

2.8974

8
logx =0.3622
To find antilog
x = antilog 0.3622
Characteristics = 0

e

x=2.302
Reterence point
x=2302 Ans

0.678x9.01
0.0234

(iii)
0.678 x9.01
0.0234

Solution:
Suppose
~ 0.678x9.01

0.0234
Taking log on both sides
0.678x9.01

0.0234
According to 1* and 2™ law of log

log x =log 0.678 +10g9.01 —log 0.0234
log x =1.8312 +0.9547 — 2.3692

= _] +U.83%,.9547 ~(-2+0.3692)

=2416

:@%ﬁntilng
@ antilog 2.4167
h

A

logx =log-

‘; haracteristics = 2

@
<>@

x=2610
¥y=261.0Ans

(iv)  32.709 x1.239
Solution: 3/2.709 x {/1.239

|
(2.709)5 x(1.239)
Suppose:
1 1
x =(2.709)s x(1.239)
Taking log on both side

1 1
log x = mg[(z_mg}i x(1.239)7

According to law of logarithm
| I

log x =log(2.709)s5 +log(1.239)
According to third law of logarithm

]
log x =

: log(2.709) + -]}- log (1.239)

log x = %lng(Z.?DE?) + %lng(l 239)

www.pakcity.org
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_ 1 04328+10.0931

i) {j 0.7214x2037

5 7 60.8
o .
_ 04528 0.095] . 0.7214x20.37
5 7 Solution: 3 =8
0.0866 +0.0133 s
=0.0999 0.7214x20.37 |3
To find antilog Letx = 08
x = antilog 0.999 L L
Characteristics = 0 Taking log on both sides |
x=1259 0.7214x 20.37 )3
Retference point log x = log| - 0
x=1.259 Ans ' d
d of logarithm
1 0_?214:@0_3?]
log x = —log
3 | 60.8
‘ According to first and 2™ law
(V) L0007 log ", log0.7214 + log37 - log 60.8
_ 1.23x0.6975
Solution: 00751078
J K 1L
Suppose log x = —[l 8582 +1.3089—1. ?839
1.23x0.6975
i wrrrr—— Ql -0.8582+1.3089—1. T839]
0.0075x1278 {\\gﬁo
.23x0.6975
logx=log————— %
5 0.0075%1278 Q&C@ =g ~(-06168)
=log(1.23x0.6975)—log(0.0075x1278) 7> — _0 2056

=log1.23+10g0.6975 —(1log0.0075

=log1.23+10g0.6975 - lug y—log 1278

=0.0899 +1.8435-3.8751-3.1065
=0.8999+(—1+0.8435) - (-3 +0.8751) +3.1065
=—1.0482

logx=-2+2-1.0482

log x=02+0.9515

log x = 2.9518

To find antilog

x = antilog 29518

Ch= 2

x =89350

=0.08950 Ans

log x 1s in negative, so
logx=—-1+1-0.2056
=—1+79144

= 1.7944

To find antilog

x = antilog 1.7944
Ch=1

x=06229

Reterence point
0.6229 Ans

33}:%{9_2

127 x 3246
83 x VCE
127 x /246
3% 3/92

127 x 3246

(vii)

Solution:

Suppose: X =

www.pakcity.org
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'1
. 83 x (9‘2)3

]
127 x ( 246)5
Taking on both side
|
83x(92)3
- 1
127 x (246)5

and 2" law of log

log x = log

According to 1*

| |
log x =log83 +log(92): - log127 - log(246);
According to third law of log

log x = log 83 + -31—]0392 —log 27 —-é—lug 246

logx =(1.9191) +%(1 9638)-(2.1038)

——(2 3909)

= l 9191 + 0.65460 - 2.1038 - 047818
=1.9191+0.6546-2.1038-0.47818
= —0.0083

log x 1s in negative, so
logx=—1+1-0.0083

=-1+0.9917

=19917

To find antilog

x = antilog 19917

Ch=1

x=98l11

Reterence point

x=0.9811Ans

(438)" /0.056

(vii) (388) =

(438)" 1/0.056
(388)"

(438) 1/0.056

(388)

Solution:

Suppose: x =

(433) (0. (}56)
(338)

\&5

(438) (0.056):
(338)
Taking log on both side

i 3 LY
(438) (0.056):
(388)°

logx =log

\ /

According to 1* and 2™ law

. - ] Wy
log x =log (43 8)3 +log(0.056)2 — [gg(383)4

According to third law

logx =3 103(438) + ll::,r;_z;(0,.056) - 4lﬂg(3 3)

2
log x = 3(16415)%(5_?482)4(2_5338)

=7.9245+ %(—-2 +0.7482)-10.3552

=7.9245 +§l @.2518) —10.3552
=7.92485—0.6259-10.3552
66

g 1S In negative, soO

log x =—4+4—-3.0566

=—4+0.9434
To find antilog

x =antilog 4.9434

Ch= 4

x=8778
Reterence point
=0.0008778 Ans

Q.2 A gas is expanding according to
the law pv"= (C .
Find C when p = 80, v = 3.1 and

3

Z N
Solution: Given that pv' = C
Taking log on both sides

Log (pv”)= log C
Log P+log v'=log
Log (" =log P+log V"
Log C =log P+ log v

=
=T

I

e 5
Putting P=80, v=3.1 and n="

www.pakcity.org
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Q.3

Q.4

"
Log C = log S(HE log 3.1

5 .
=1.9031+£[[}.4914}

=1.9031+0.6143

Log C=2.5174

Taking antilog both sides
C=Antilog (2.5174)
(C=329.2 Ans:

The formula p= 90 (5) %" applies
to the demand of a product,
where q is the number of units
and p is the price of one unit.
How many  units will be
demanded 1f the price 1s Rs
18.007

-4
Solution: Given that p =90(5)"
Taking log on both sides

Log p= leg(?ﬂ(i);?)
—4f

Log p=log '90+10g53-_

L

g S
5 %
Log P =log 90-10 10g 5 O
g P =log q g O@
Log 18=log 90- 10 1og§
(P =18)
9
1.2553=1.9542- 10 x 0.6990
q

1.2553-1.9542 =- 10 x 0.6990
-0.6989 x 10 = - q x 0.6990
-6.989=-g x 0.6996
6.989=qg x 0.6996

6.989

0.6990 =

g =10 approximately
Hence 10 units will be demanded

- 22
It A=xr", find A, when 1= =3
andr=1>.
Solution: Given that A =7r°
Taking log on both sides
Log A=log zr’

Log A=log 7 +log r

=log

Log A=log 7+2 log r

Putting :«'r=% and r =15

22
Log A=log 74—2 log 15

=log 22-log 7+2 log 15
=1.3424-0 8451+2(1.1761)
=0.4973+2 3522

Log A=2.8495

Taking antilog on both sides
A=antilog 2 8495

A=707.1 Ans

If :%—Hf’lh, find V, when

T =~%?— , r=25and h=4.2.
|

Solution: Given that 1" = 3 arh

|-log 3+ log 7r"+log h
= (0-0.4771+ log 7w +log "+ logh

=-0.4771+ log 3_?-*2 log 7+ log h

22 _
[:’E’ e _;:_"‘r =25 andh = 4_2)

=—04771+log22—log7+2log2.5+log4.2

=-04771+1.3424-0.8450+2 x0.3979+0.6232

=—04771+1.3424-0.8450+0.7959+0.6232
Log V=1.4394

Taking antilog on both sides

V=antilog 1.4394

V=27.50 Ans
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Q.1

(i)

(iii)

(iv)

(V)

(vi)

(vii)

(viii)

Review Exercise

Multiple choice Questions. Choose of the correct answer.

If «* =n, then...
(a) a=log_n (b) x=1log, a

(c) x=log,» (d) a=log, x

The relation y=log:x implies...
(a) ¥z (b) Z'=x
(c) x =y (d) y°=x

The logarithm of unity to any base is...
(a) 1 (b) 10

(c)e (d) O
©

The logarithm of any number to itself as bas B%
(a) 1 3 @

(c) e %@%d) 10

Log e=...,where e~ 2.718 /‘/@@
A3 (b) 0.4343

(a) O
(€)ex (d) 1
The value of log| =
_ log
(@)log p~logg ) V=
og ¢

(c)log p +logg (d) logg —log p
Log p-log ¢ is same as ...

ol
(a) log(i (b) log(p-q)

P
. |
© (d) logg - log p

0g 4

Log(m") can be written as...
(a) (log m)” (b) m log n
(c) nlog m (d) log (mn)

www.pakcity.org
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(1x)

(x)

Q.2

(1)
(ii)
(iii)
(iv)
(V)

(vi)

Q.3

(1)

(1)

log, axlog_ b can be written as...

(a) logac (b) log.a
(¢) log.b (d) logc

Log,x will be equal to...

log_ x .. log. z
(a) —=2 (b) ===
log, z log, z
log_ x . log. v
(c) —= (d) —==2
log. y log. x

ANSWER KEY

vV Vil VIl X

Complete the following:

For common logarithm, the base 1s. .. Q@
The integral part of the common logarithm of a nafber is called the ...
The decimal part of the common logarithg\@\ﬁﬂmber 1s called the ...

If x =log vy, then y 1s called the. .. of x.
If the characteristic of the lagarithnﬁg@mmber have...zero(s) immediately after the

decimal point.

o
If the characteristic of the l@@m of a number 1s 1, that number will have digits 1n

1ts integral part.

PN ANSWER KEY
i i i iV V. vi
10 | Characteristic | Mantissa | Antilogarithm | One | 2

4" =256
Find the value of x in the 4% — 4%
following. -
x=4
iog'“-. =3 x=4 Ans
Solution: log, x =5
Write in exponential form. 1
3= x (i) logg, 5 =—0x
243 =x Ans !
Solution: log,,. 5= EI
log, 256 = x Write in exponential form
2, ‘ .
Solution: log, 256 = x (625)+ =5

Write 1n exponential form ..
(625)4 =5

(54)3 =5
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(iv)

Q.4

(11)

(iii)

dx Ch=0 www.pakcity.org

5 :]5 ¥x=1.010 Ans
5.1‘ — .
x=1Ans

(iv) logx=16238
Solution: log.x = 16238

log . x = — 2 log x = 1.6238
64 Y T o o
3 . x = antilog16333
Solution: log, , x =—— Ch=1
o -3 x =0.4206 Ans
Write 1n exponential form
(64)_3 =X
( 43)-;2 . Q.5 If log2=03010, log3=04771,
. and log5=0.6990 then find the
43 =x values of the following.
47 =x
1 (1) log 45
4° -4 Solution: log 45
|
— =X Ans
16

;@% =log3" +log5
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@Q =2log3+logls
Find the value of x in_{k _ A7 i
following. 5@ =2(0.4771)+0.6990
=0.9542+0.6990
log x = 2.4543 =1.6332 Ans
Solution: log x = 2.4543
log x = 2.4543
x = antilog 2.4543
Ch=2 P 16
x=284.6Ans & © 15
16
Solution: lcngal—5
log x =0.1821 4
Solution: log x = 0.1821 = log 3% S
]ogx:il"l.lszl =log 2" —log(3x5)
x =antilog0.1821 . ,
=4log2—-(log3 +log3
Ch=0 e (log3+log5)
x=1.521Ans =log2" —log3 -log3s

=4log2-log3-log5s
= 4({).3010)— 0.4771-0.6990

o = = 5OV =1.2040-0.4771-0.6990
Solution: log x = 0.0044 = 00279 Ans

log x = 0.0044
x = antilog 0.0044




(i)  log0.048
Solution: log0.048
48
1000
2x2x2x2x3
2R LNIHININD
2* %3
2'x §°
=log2* +log3—log2’ —log5’
=4log2+log3—-3log2—-3logs

= log

= log

= ]{}g

- 4(0.3010)+0.4771-3(0.3010) - 3(0.6990)

=1.2040+0.4771-0.9030-2.0970
-1.3189

=—1-0.3189

=—]—1+1—-0.3189

-2+ 06811

—26811Ans

I

Q.6 Simplify the following,

(i) 325 47
Solution: 3/25.47
Letx =3/25.74

|
=(25.47)3
Taking log on both sides

]
log x =log(25.47)3
|

=~ log25.47

S %(1 4060)

log x = 0.4687

x =antilog 0.4687
Ch=0

x=2.943 Ans

(1i) 3422
Solution: %/3422
Let

x=13/3422
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= (242.);
Taking log on both sides
I
log x =(342.2)
1

log x = glﬂg 3422

:_;_(2,5343)

log x = 0.5069

log x = antilog 0.5069
Ch=0

X=3213Ans

(8.97) x(3.95)
15.37

(8.97) x(3.95)
Solut e
uul@ e 37

ST 39?) (3 95)
O{\\K)ﬁhet x—T

(iii)

@ -
@'\gg Taking log on both sides

(8.97) x(3.95)

J15.37

log x = log

| . - 1
=10g(8.97) +log(3.95) —log(15.37):

=3log8.97+2log 3.95—%lag15.37

= 3(0.9528’)+2(0.5966)-—31(1.1367)

=2.8584 +1.1932-0.3956
log x = 3.656

x = antilog 3.656

Ch=3

x=4529 Ans
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Unit 3: Logarithms

Overview

Scientific Notation:

A number written in the form ax10", where 1 < @ < 10and # is an integer, 1s called the
scientific notation.

Logarithm of a Real Number:
If a° = ythey xis called the logarithm of y to the base “a’ and is written as log, y=x
., where a >0,a#1land y>0

O
Characteristic of logarithm of the Number: @Q@

An integral part which 1s positive for a nu \@reater than 1 and negative for a
. : L O y ] B
number less than 1, is called the characterist fogarithm of the number,

Mantissa of the logarithm of the Numbe @

A decimal part which 1s alw ysitive, 1s called the mantissa of the logarithm of the
number.

Antilogarithm:
The number whose logarithm 1s given 1s called antilogarithm.
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